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In a commercial firm, an “accumulated fund” would be known as:

A Fixed Assets

B Total Assets

C Net Current Assets
D  Capital

g oL EUTOPIKN EMYEIPNOT, TO «ZVGCMOPELVHEVO ATOOEHOTIKO» Elval YVOOTO
Oc:

[Ty Evepyntko

Yuvolkd Evepyntikd

KaBapd Kukrhopoprokd Evepyntikd
Kepdhoo
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A receipts and payments account does not show:

Cheques paid out during the year

The accumulated fund

Receipts from sales of assets

Bank balances

O Aoyopraopog Etonpd&ewv kot [TAnpopdv dev deiyvet:
Emrayég minpwbeioeg kotd T SLapKeLR TOV £TOVG
To cuecmpevpéVo amobepaTikd
Ewonpd&elg and noANGELg TEPLOVGIOKDV GTOLYEIMV
Yrorowa Tpdmelog
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An example of an intangible fixed asset is:

A Premises

B Debtors

C Patent

D  Bank Overdraft

"Eva mopaderypo GbAov Taylov evepynTikov givar:

Ymnootatikd

Xpedoteg

Aimhopo evpeotteyviag (Tatévia)
Mopatpapnyna Tpanelog
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Net Assets are:

A
B
C
D

Fixed Assets + working Capital — Long term liabilities
Capital + Working Capital — Long term liabilities
Fixed Assets — Working Capital + Long term liabilities
Fixed Assets + Capital + Long term liabilities

Koabapd Evepyntikod eivar:
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[Téyo Evepynmikd + Kepdioo Kivnong — Makporpofecpo Iabntikod
Kepdharo + Kepdrato Kivnong — Maxponpofespo [adntikd
[Téyi0 Evepynrmiko — Kepdharo Kivnong + MaxponpoBecpo [Mabntikd
[Téyio Evepyntikd + Kepdiaio + Moaxponpobeopo [abntikod

A machine costs £5000 and is expected to last for five years. At the end of
this time, it is estimated it will have a residual (scrap) value of £500. The
annual amount of depreciations using the straight-line method will be:

oQw»

£900

£1000
£1100
£1250

"Eva pmyévnua xootilel £5000 kon avopéveTor vo S1opKESEL TEVTE YPOVIA.

210 T€A0G OVTNG TNG XPOVIKNG TEPLOOOL, VITOAOYileTan OTL Ba €xet
vroiepartik a&io £500. To eto10 OGO ™G AmoOSPeong, epapudlovtag v
gvbeio uébodo, Ba eivar:
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£900

£1000
£1100
£1250

A machine, which originally cost £1000, is sold for £350. The provision for
depreciation account relevant to this machine shows a balance of £620. This
means that there is:

oQw»

A loss on sale of £380
A profit on sale of £350
A loss on sale of £30

A profit on sale of £30



"‘Eva, umydvnua, mov kootice apyikd £1000, mtovAnonke yion £350. O
AOYOPLOGUOG ATOGRECHEVTO UNYOVIILOTO TTOV OLPOPA TO UMY AV VTO
delyver vmolowmo £620. Avtd onuaivel OTL vEdpyEL:

Znud omd v noinon £380
Képdoc amd v noinon £350
Znud omd v noinon £30
Képdoc and v novinon £30
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You are preparing a trading account from incomplete records. Debtors at the
start of the year were £2500, and at the end were £3250. Cheques received
from debtors total £17850; cash sales total £2500. What is the sales figure for
the year?

A £17850
B £19600
C  £20350
D  £21100

Etrowdleton évag Aoyopraopog Expetdidievon Epnopeopdtov and eAlu
(avemapkn) Aoylotikd ototyeia. Ot ypemoteg otny apyn Tov £tovg nrov £2500
Kot 6to TEAOG Tov £Tovg £3250. Ot emttayéc mov ANEONKay and ¥pedoTES
avépyovrtal og £17850: Or mwinoeig 1016 petpnroig avépyovion og £2500.
[Too NTav 10 OGO TV TOANGEWDV Y10 OAOKANPO TO £T0G;

A £17850
B £19600
I £20350
A £21100

Sales for the year are £100000. Gross profit margin is 25%. Opening stock is
£10000; Closing stock is £12000. What are purchases for the year?

A £25000
B £73000
C  £77000
D  £125000

O twinoeig tov étovg etvar £100000. To mepdmplo Tov HKTOL KEPSOVG
etvar 25%. To apykd andbepa gpmopevpdatov etvar £10000 To TeMkd
anoBepa ivor £12000. TToteg glvan o1 ayopéc Tov £T0VG;

A £25000
B £73000
r  £77000
A £125000




9. In a club balance sheet, subscriptions paid in advance are recorded as:
A acurrent asset
B acurrent liabilities
C  an addition to the accumulated fund
D  afixed asset
9. >1ov Iooloyiopnd pag AEoyng, o1 TPOTANP®OEIGEC GUVOPOUES KATOY®POVVTOL
g
A éva KuKAOQOPLOKO EVEPYNTIKO
B éva BpayumpdBespo mabntikd
I' o avénon 1ov GLGGOPELUEVOD KEPAANIOV
A éva mdylo gvepynTiko
10. Members’ subscriptions of £30 were overdue at the beginning of the year.
£2020 was received during the year, including the overdue amount, and £18
for subscriptions in advance for the following year. What amount will be
shown for subscriptions in the income and expenditure account for the year?
A £1972
B £2008
C  £2038
D  £2068
10.  Xvvdpopéc pedmv £30 frav aninpoteg oy apyn Tov étove. Katd
duapkela Tov £tovg elompaynkay £2020, cuumeptiapuBavorévou Tov
0PEILOLEVOD OG0V, Kol TocoV £18 yia cuvdpouég Tpominpmbeices yio to
emouevo étoc. T mocd cuvdpoudV Yo T £T0¢ Ba ELPUVIOTEL GTO AOYOPLUGUO
€000mV Kol £00MV;
A £1972
B £2008
r  £2038
A £2068
11.  Profits of a two-person partnership are £32800 before the following are taken

into account:

¢ Interest on partners’ capital accounts, £1800

¢ Interest on partners’ drawings, £200

e Salary of one partner, £10000

If the remaining profits are shared equally, how much will each partner
receive?

A £10600
B £11400
C  £12200
D  £16400



11.

Ta k€pdN pIo TPOOOTIKNG TOIPIOG OVO TPpocOT®V givar £32800 TpoToh
ANeBoHY VIOYN 01 WO KATO AOYUPLGUOL:

e  Toxog keparaiov £1800

e  Toxog amonyenv £200

e  Mis0dc etaipov £10000

Av 10 gvamopeivavTa KEPOT Holpaotovy eEicov moca Ba mapet kdbe péToyog;

£10600
£11400
£12200
£16400
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12.

12.

A final debit balance on a partnership realisation account means that there is:

An error in the book-keeping records
A profit on realization

Goodwill

A loss on realization
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To teMKO YPEMOTIKO VITOAOUTO TOV AOYOPLOGHOD EKKAOAPIONG UG
TPOCMTIKNG £ToNpiog onuaivel OTL vdpyeL:

AGB0G 6TIG AOYIOTIKEG KATAYWMPNOELG
Képdoc exxabdpiong

DN kon werateio (vepasion)
Znpd exkafipiong
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13.

Which of the following numbering items will be included in the prime cost of
Weston Manufacturing Limited?

purchases of raw materials

rent of factory

wages paid to production line employees
royalties payable to the designer of the product
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13.  Tloto omd o mapakdto apfunuéve Kovovilo Oa coureptAnedel oto
TPpOTUPYIKO N Pacikd kdoToc TG Bropmyavikng Metoywnc Etapiog Weston,;
1. AYOPEG TPOTM®V VADV
2. €voiklo gpyooTaciov
3. nuepopictia katafAn0évio otovg pyalOHEVONG GTN YPOUUN
TOPOYOYNG
4, SkandpaTo, TANPOTES (OQELOUEVA) GTO GYENIUOTN TOL TPOTOVTOG,.
A 1,23
B 1,2,4
r 1,3,4
A 2,34
14. Which one of the following does not appear in a manufacturing account?
A depreciation of factory machinery
B Supervisors’ wages
C  depreciation of office equipment
D  factory heating and lighting
14. [Too amod o Tapakdto dev EPLPAVICETOL OTO AOYUPLUGHO TOPUYDYNC;
A AmdoPeon pnyovnudTomv €pyocTaciov
B MioHoi emotatodv (Tapaywyng)
I'  AmdoPeon ypoapeiakod eEomMopon
A Dotiouds kol BEpuavor epyoctaciov
15. Which one of the following does not appear in the appropriation section of the
Profit and loss account of a limited company?
A corporation tax
B  proposed dividends
C  directors’ remuneration
D  balance of retained profits
15. [Too amod ta Topakdtm dev eppaviletol oto TUNLO SABECTG TV KEPOMYV TOV

AOYOPLOGHOD OTOTELEGUATOV LI0G LETOYIKNG ETALPIOG;

ETAUPLIKOS POPOC

TPOTEWVOUEVO LLEPICHATO

apopn ped®v Alokntikov Zvppfoviiov
VLOAOITO TTOPAKPATNOEVTOV KEPIDV
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16. In the final accounts of a limited company debenture interest is:
A debited in the trading account
B  debited in the profit & loss account
C  debited in the appropriation section of the profit & loss account
D  shown as a long-term liability in the balance sheet
16. 2T0VG TEAKOVG AOYOPLAGHOVS LLOG LETOYIKNG ETOLPIOG O TOKOC OLOAOYIAKOD
daveiov:
A Xpe®dverol 6T0 AOYOplacHd EKUETAAAEDCT] EUTOPEVUATOV
B  Xpewvetor 610 Aoyoplacud amotelecUATOV
I'  Xpewveton 610 TUNHA 5140801 KEPODV TOL AOYOPLOGLLOD
OTOTEAECUATOV
A Epgavifetor 610 pokponpofecpo mabntikd tov 160A0YIGHOD
17.  Which of the following is not included in shareholders’ funds?
A ordinary share capital
B debentures
C  preference share capital
D  capital reserves
17. [Too amo ta Topakdto dev cvpmepriapPaverol otnv Kabapn BEon g
emyeipnong;
A Kepdlowo kovav Hetoymv
B Opoloyiec
I'  Kepdlowo Tpovopovymv HeToymv
A Kepalaiovyikd amofepotikd
18. The following information is available for a sole trader who keeps no

accounting records:

£
Net business assets at 1 July 2004 186000
Net business assets at 30 June 2005 274000
During the year ended 30 June 2005:
Cash drawings by proprietor 68000
Additional capital introduced by proprietor 50000
Business cash used to buy a car for the proprietor’s wife 20000

Using this information what is the trader’s profit for the year ended 30 June

20057
A £126000
B £50000
C  £86000
D £90000



18. O1 TopaKAT® TANPOPOPIES AUPOPOVV LUL0. ATOMIKT ETLYEIPTION 1| OTTOiDL dEV
mpel Aoylotikd Pipiio:
£
Kobapd evepynrtikd g emyeipnong v 1 Toviiov 2004 186000
Koabapd evepynrikod g enyeipnong v 30 Iovviov 2005 274000
Kotd ™ dudpxela tovg étovg mov Afyet v 30 Tovviov 2005:
AvAAnym LETPNTOV OO TOV EMLYEPMUATIO 68000
Eiopopd emmpdcOetov keparaiov amd tov emyspnuotio 50000
XpnoworomOnkav PHeTpNTd TNG EMLYEPNONG Yot TV
ayopd vOg aLTOKIVITOL Y1 TNV ocvluyo Tov emyelpnpatic. 20000
XPNOUOTOIBVTAG TIG TATPOPOPIES AVTES, TO10 £Vl TO KEPOOG TG OLTOUIKNG
emyeipnong ywo to £1og mov Anyet 30 Tovviov 2005;
A £126000
B £50000
I £86000
A £90000
19.  The following information has been extracted from a balance sheet at 31

December 2005.

£
Fixed Assets 300000
Working Capital 30000
Long-term loan 20000
Profit for the year 35000
Drawings 25000

What was the balance on Capital account at 31 December 2005?

A £300000
B £320000
C  £340000
D  £350000



Ot TapaxdTe TAnpoeopicg Exovv e&oydel amd éva 1coloyioud v 31
Aexepppiov 2005.

£
[aywo Evepyntkd 300000
Kepdiao Kivnong 30000
Moxkponpdbeospo Advelo 20000
Képdoc €toug 35000
Amoyelg 25000

I[Toto etvar 1o vwOAOUTO TOV Aoyoplacpol Keparaiov v 31 Agxepfpiov 2005;

A £300000
B £320000
I'  £340000
A £350000

The following information for a year is extracted from a sports club’s
accounts.

£
Subscriptions received 10000
Sales of equipment to members 7000
Opening stock of equipment 1300
Closing stock of equipment 800
Purchases of equipment 5000

What was the club’s total income for the year?

A £10000
B £11500
C  £12500
D  £17000

Ta mopokdto oo oToryEia £xovv ANEOEl amd ToOVS AOYAPLUCUOVS UIKG
afAnTikng Aéoymg.

£
EwonpayBeicec cuvdpopég 10000
[MowAnceic eEomAopol ota PEAN 7000
Apyco Anofepa eEomhiopon 1300
TeAco Amobepa eEomhiopon 800
Ayopdc eEomhopon 5000

IToto etvar 10 cuVorkd 166N U (£0000) TG AETYNG Y1a TO £TOG;

A £10000
B £11500
I'  £12500
A £17000




21.

21.

George and Peter are partners sharing profits and losses in the ratio of 2:1.
They are allowed interest at 10% per annum on capitals and loans to the
partnership.

Other information is as follows:

George Peter

£ £

Capitals 20000 8000
Loan to firm 3000 -

The partnership has made a net profit for the year of £40000.
How much is George’s total share of the profit?

A £24800
B £25100
C  £26800
D  £27100

O TIN'wpyog ko o ITéTpog elvar cuvétaipot mov popdlovron To KEPOT Kot Tig
g pe avoroyio 2:1.

[Mopaywpov 10K0 10% etoimg Tavm ota KepdAaia Kol To. SGvELD TPOG TO
cuveTapiouo.

Alleg mAnpopopieg etvar o1 akdlovbeg:

FNopyog  Hétpog

£ £

Kepdroo 20000 8000
Advelo Tpog etapeia 3000 --

O cvveTopiopdc (TPOCMTIKT EToUPie) TpayUaTOTOINGE Kabapd KEPSOG Yo TO
étog £40000.
[T6co eivar o Guvoiikod pepidio Tov [Nmpyov 010 KEPSOG;

A £24800
B £25100
I £26800
A £27100




22. The summarized Balance Sheet for A and B in partnership is given.
£ £
Capital A/cs:
Goodwill 12000  Partner A 24000
Net Assets 28800  Partner B 16800
40800 40800
A and B have previously shared profits and losses in the ration of 2:1 but have
now decided to change the ratio to 3:2.
Goodwill is to be revalued and shown in the Balance sheet at £30000.
What is the new balance of A’s Capital a/c?
A £23800
B £24000
C  £34800
D £36000
22. Atveton mepiAnyn tov looloyiopob piag Tpocmmikng etarpiog tov A kot B.
£ £
Capital A/cs:
dun & Terateia 12000  Etaipog A 24000
KabBapd Evepyntikd 28800  Etaipoc B 16800
40800 40800
O A xon B ponyodpeva poipalov to képon ko tig {nués pe avaioyio 2:1,
oAAG Tpa amopdoioay vo oALGEovV TV avaloyia og 3:2.
H onun ko teloteio emavektipndton kot deiyvetol otov looroyiopod oe
£30000.
IToto Ba givar to vEO VWOAOLTO TOV AOYUPLOGHOD KEPOUANIOV TOL A;
A £23800
B £24000
' £34800
A £36000
23.  Which of the following will not be shown as ‘““share capital and reserves” in a

company’s Balance sheet?

Debentures
Retained Profit
Revaluation reserve
Share premium

oaQw»



23.

IMToto omd o TapaxdTm dev epupaviletor wg «Metoykd Kepdroto kot
Amobepotikd» otov [GoAoyiopd oG LETOYIKNAG ETALPING

Opohroyieg

Mopakpatnév Képdoc (M draveunév)
AmoBepotikd Avompocaployns (ETavEKTIUMGoNC)
AmoBepotikd omd v £K600T LETOYMV VTEP TO GPTIO
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24.

24.

A company with an authorized share capital of £200000 has issued 100000
ordinary shares of £1. It has also issued £100000 6% debentures. Operating
profit is £20000. A transfer of £10000 is to be made to the General Reserve.
What is the maximum dividend that can be paid on the ordinary shares?

A 2%
B 4%
C 5%
D 7%

Mo petoyikn| etoupio pe ykekpyévo petoykd kepdioio £200000 £xet
exdocel 100000 xowvég petoyés g £1. Emiong €xet exddoer £100000 6%
oporoyies. To Aertovpykd képdog eivar £20000. Metapépeton mocd £10000
010 ['evikd AmoBepatiko.

[Toto etvan T0 péyioto pépiopa mov umopel va 600el oTIC KOWES LETOYES;

A 2%
B 4%
r 5%
A T%

25.

K, L, M are partners sharing profits and losses in the ration of 3:2:1.

The goodwill amounted to £12000 and the partners decided to write off from
goodwill £6000.

What is the amount which must be debited or credited in the capital a/c of
each partner:

K:£2000, L:£2000, M:£2000 Debited
K:£3000, L:£2000, M:£1000 Credited
K:£3000, L:£2000, M:£1000 Debited
K:£2000, L:£2000, M:£2000 Credited

oQw>




25. O K, L ko M givor cuvétatpot ko porpdlovrot to k€pdn kot Tig {nuég pe
avaioyio 3:2:1.
H a&ia g @ung kot [Mehateiog toug avépyetar o€ £12000 ko amopdoioay
va daypayouvv 1oc6 £6000 amd avty.
Me mo10 1066 Oa ypembei 1} Ba ToTOOEL 0 Aoyaplacuoc kepaiaiov Tov Kabe

ouvetaipov:
A K:£2000, L:£2000, M:£2000 XpemOnke
B K:£3000, L:£2000, M:£1000 ITictOnke
I'  K:£3000, L:£2000, M:£1000 Xpemdnke
A K:£2000, L:£2000, M:£2000 ITicthOnke

Good Success — Ko Emiruyio




